13

Actuator specifications

Electric actuator Rod

ESD2

Series

Compatibility function allows the controller, actuator and cable to be

freely combined

The electric actuator that works like a pneumatic cylinder

CeED

@ Motor sizes: [ 42 /[ 156

ESD2-35 ESD2-45 ESD2-55
Actuator Rod
Motor Stepping motor
Encoder Incremental
Drive system Rolling ball screw RoIIir?g ball screw
Outer diameter 8 mm Outer diameter 12 mm
Motor size [142 []56
Screw lead mm 6 | 12 6 | 12 6 | 12
50, 100, 150, 200
Stroke mm 50, 100, 150 50, 100, 150, 200
250, 300

Operation speed range mm/s| 15t0300 | 30to600 1510300 | 30 to 600 1510200 | 30to 400
Operation acceleration/deceleration speed range ~ m/s? 1.0t0 3.0
Repeatability mm +0.02
Lost motion mm 0.1 or less
Max. load capacity |Horizontal kg 33 16 33 16 67 34
*1 Vertical kg 10 4 10 4 15 6.5
Maximum pressing force N 220 110 220 110 640 320
Motor power supply voltage 24 VDC+10%
Motor section maximum instantaneous current A 2.7 2.7 4

Type Non-excitation operation

Power supply voltage 24 VDC+10%
Brake '

Power consumption W 6.1 7.2

Holding force N 140 70 140 | 70 610 305
Insulation resistance 10 MQ or higher 500 VDC

Withstand voltage

500 VAC for 1 minute

Operating ambient temperature

0 to 40°C (no freezing)

Operating ambient humidity

35 to 80% RH (no condensation)

Storage ambient temperature

-10 to 50°C (no freezing)

Storage ambient humidity

35 to 80% RH (no condensation)

Atmosphere

No corrosive gas, explosive gas, or dust

Degree of protection

IP4X

*1: The maximum load capacity decreases when the speed increases. For more details, refer to the vertical and horizontal load capacity charts and graphs in

the next page.

In addition, a static or dynamic load moment cannot be applied to the rod. Use a linear guide, etc., to prevent a radial load from being placed on the rod.

Weight (kg)
" Body size |WMobormounting diecton| 50t | 100t | 150st | 200st | 250st | 300t
1.3 15 1.6
E
(1.7) (1.9) (2.0)
ESD2-35 15 1.7 1.8 ) ) )
R/L/D
(1.8) (2.0) (2.1)
e 1.7 2.0 2.2 25
(2.1) (2.4) (2.6) (2.9)
ESD2-45 1.9 2.2 24 2.7 ) )
R/L/D
(2.2) (2.5) (2.7) (3.0)
e 3.0 3.4 3.8 4.1 45 4.9
(3.7) (4.1) (4.5) (4.8) (5.2) (5.6)
ESD2-55 35 3.9 4.3 46 5.0 54
R/L/D
(4.1) (4.5) (4.9) (5.2) (5.6) (6.0)

Note: the numbers in (') indicate the product weight with the brake

CKD



E S D2 Series

Vertical load capacity, horizontal load capacity, pressing force

Vertical load capacity

@ ESD2-35, 45

@ ESD2-55

(6%) Auoedeo peo

(6%) Ayoedeo peo

200 300 400 500

100

800

Speed (mm/s)

Speed (mm/s)

Horizontal load capacity

@ ESD2-55

@ ESD2-35, 45

80

(6%) Ayoedeo peo

(6

=

Ajioeded peoT

400 500

300

Speed (mm/s)

800

Speed (mm/s)

Pressing force

@ ESD2-55

250

@ ESD2-35, 45

(N) @210} Buissaid

o o O O O o o
o o O O O O O
N~ © nu T o™ N
(N) @210y Buissaid
I I I I
I I I I
| | | |
| | | |
| | | |
-t -+ -+ + - - =
I I I I
I I I
I I I
I I I I
| | | |
+ + 4 + - - =
I I I
I I I
I I I
I I I
| | |
+ + + - ==
I I
I }
I I I
I I I
| | |
+ + - -
I I I
I I I
| | |
| | |
| | |
o o o o
o Te] o Te]
N -~ -

40 60 80 100

20

40 60 80 100

20

Pressing current set value (%)

Pressing current set value (%)

14

CKD



E S D2 Series

How to order

@ Set model No. (actuator, controller, cable)

E02- @0 B-OVE-VODE =

@ Body size

Model No.

O Body size

35 Body size 35
45 Body size 45
55 Body size 55

0 Motor mounting direction

© Motor mounting direction E Standard mounting (straight)
R Right-hand mounting
L Left-hand mounting
D Bottom mounting
@® Screw lead
@© Screw lead 06 6 mm
| 12 12 mm
@® Stroke
©stroke Code Length B 126
9 35 45 55
05 50 mm [ [ [ )
10 100 mm [ [ [ )
15 150 mm [ [ [ )
20 200 mm [ ) [ )
25 250 mm [ )
30 300 mm [ )
@bBrake N [Without brake
B With brake
— — @ Origin position
@ Origin position M Motor side
[Example of model No.] F Opposite side of the motor
ESD2-55E12-05NF-S1A2F © Relay cable length
@O Relay cable length NO None
@ ooy R Eramr
@ Motor mounting direction : standard mounting (straight) S5 Fixed cable 5m
© Screw lead 112 mm SX__ |Fixedcable __10m
@® stroke 150 mm R1 Movable cable 1 m
©® Brake : without brake R3 Movable cable 3 m
@ Origin position : opposite side of the motor R5 Movable cable 5 m
@ Relay cable length : fixed cable 1 m RX Movable cable 10 m
@ Controller : ECO7 standard mounting @® Controller
@ /0 Cable length :2m @ Controller N None *1
@ Mounting bracket : flange bracket included A EC07  standard mount
B ECO7 DIN rail mount
Cc EC63 standard mount
D EC63 DIN rail mount
E ECPT  standard mount *2
_ F ECPT ___ DIN rail mount  *2
1: When @ controller is set to "N", also © 1/0 Cable length
select "N" for @ 1/O cable. @ /0 Cable length N None
2 2m
3 3m *3
5 5m *3
Actuator body discrete model No. m © Mounting bracket
@ Actu yd @ Mounting N None

Brake

@©sScrew lea
©Body size @ Stroke

- - =NON NN  bracket L Foot bracket included
F Flange bracket included
ot muning S Spacer (body size 35, 55 only)
unti
edirection e
d

@ Controller individual model No.
Mounting method

Series
*For details, refer to "How to order" on page 29.

15 CKD

*2: Use a PLC unit which meets the ECPT pulse train signal input
specifications (refer to page 34).

*3: If the code for the controller is E or F, these cables can be used
only when the differential system is used as the pulse train signal
system. Only a cable length of 2 m can be used with the open
collector system.

@ Cable discrete model No.
- Relay cable +1/0 Cable

EC-CBLME1-@-@ EC-CBL|F1--@
le

Fixed/movab able length
Cable length Controlle Series

GOrigin position

*Refer to page 42 for details.



E S D2 Series

How to order/Dimensions

Dimensions

@ ESD2-35E (standard mounting  straight)

Connect to relay cable ..l- g
7.5 (hexagon: direction is variable 9
13 18 against the base side)
M8x1.25 B ©
i 5 = |
o e ) £Y—© 1 I u\ g
—~ ___| 7' ~
© 4/'
= Wgx1.25 & Fixing cable
Ball screw greasing . allowable
Dimension of possible position: Ball screw greasing hole bending R50
attached nut
attached nut 73 mm or over (300)

4-M3 depth 10

(90° equipartition)

0.8 48 0.8

57.5 (when using spacer brackets)

Stroke length: X 37.5 (for the origin position)

o]
11
23
@
D
42
56.5

= e } i
! } ! }
o| 8)Note 1 (8) Note 1 ‘ - Ground terminal
§ N \Spacer bracket (optional product) - M3 depth 6 a4
3.5 W2 gepins
i Body length: LL (for the origin position) 93.5
§ \13.5 [64] Note 2
£ Total length: L (for the origin position)
3
™
N
12
® * * |l ‘
0 | |
Ni T LI
fol - - [l
41 Nx50 P-M3 depth 4

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake

m-ﬂ““
150

Ko |50 | 700 |
Total length L 322 372 422
3725 | 4225 | 4725
215 | 25 | ais
e | s [ 1

Number of mounting hole intervals N 2 3 4

Without brake 1.3 1.5 1.6

With brake 1.7 1.9 2.0

Weight (kg)

CKD



E S D2 Series

Dimensions

@ ESD2-35R (right-hand mounting)

49.8
38.5 Total length: L (from the origin position) 415
S Body length: LL (from the origin position)
e 21 33
0, 4-M3 depth 10 o |18 7.5 (width across fa area: orientaon wih the base s notfxed)
9 (90° evenly spaced) -
K F e
8 - @ - Q;C O
=~ 2w
M8 x 1.25 Ball screw greasing hole ol 8
Ye) —
3 Ball screw greasable position: 73 mm or more g
. ' - -
-/
|
0.8 48 0.8
Connect to the relay cable
Fixing cable allowable bend R50 (49)
(20)
37.5 (from the origin position) B A
Stroke: X Grounding terminal
13 M3 depth 6
M8 x 1.25 5 =
\
- . ‘ —
y Bt w0
— | & )
© (8) Note 1 (8) Note 1 A View
(300) 4
Attached nut dimensions 93.5 30
;17 [57] Note 2
— N
4 4 4 4
&)
N
+ + + «

Note 1: Operating range during origin return

Note 2: The numbers within the [ ] are the dimensions with the brake

41

Note 3: Be sure to also mount and use the fixing tap for the rod bottom when using the fixing tap for the rod edge.

e e
mm) | 50 | 700 | 750 |

Total length L (mm) 245 295 345
Body length LL (mm) 215 265 315
Number of mounting holes P ] 8 10
Number of mounting hole intervals N 2 3 4
. Without brake R 1.7 1.8
Weight (kg) =
With brake 1.8 2.0 21

CKD

P-M3 depth 4
(Rod bottom

4-M4 depth 10
(Rod edge
fixing ta

Note 3



E S D2 Series

Dimensions
Dimensions
@ ESD2-35L (left-hand mounting)
P-M3 depth 4
41 N x 50 (Rod bottom fixing tap)
/ Note 3
+ hd hd 4
<
N
4 4 4 4
-/
17 [57] Note 2
37.5 (from the origin position) 935 30
13 Stroke: X (300)
M8 x 1.25 5
—_— T T 0
r I E
2| 8) Note 1 (8) Note 1 [
~ ( Grounding terminal
Fixing cable 4 M3 depth 6
Attached nut dimensions Allowable bend R50 A
Connect to the relay cable (49) (20)
A View
0.8 48 0.8
77 . — 4-M4 depth 10
0| & Ball screw greasable position: - —&- (Rod edge
g ~ 73 mm or more ‘ = fixing tap)
| L . 5 —
| 7T 4-M3 depth 10 M8 x 1.25 Ball screw greasing hole cle Note 3
i (90° evenly spaced) - ool
o
3 o { @@ = B d
: OO © = ——
EJ <9 - 7.5 (width across flat area: orientation
18 with the base surface is not fixed) 33
38.5 Body length: LL (from the origin position) 415
49.8 Total length: L (from the origin position)

Note 1: Operating range during origin return

Note 2: The numbers within the [ ] are the dimensions with the brake

Note 3: Be sure to also mount and use the fixing tap for the rod bottom when using the fixing tap for the rod edge.

Total length L (mm)

| 05 | 10 | 15
X(mm) [ 50 ] 100 | 150 |
245

Body length LL (mm)

Number of mounting holes P 3}

Number of mounting hole intervals N 2

Without brake [N}

Weight (kg)

With brake

295 345
215 265 315
8 10
3 4
1.7 1.8
1.8 2.0 2.1

CKD

18



E S D2 Series

Dimensions

@ ESD2-35D (bottom mounting)

4-M3 depth 10

(90° evenly spaced)

0
N
) - h
o e h
M ‘
A Te
§ 8
N
I
0.8 48 0.8
13
-
M8 x 1.25 5

—~
'2)
—

(

Attached nut dimensions

=—0x=

Ball screw greasing hole

Total length: L (from the origin position)

Body length: LL (from the origin position) 415 4-M4 depth 10
18 7.5 (width across flat area: origntation with the base surface is not ixed) 33 (.R.Od edge
f fixing tap)
Note 3
: rwery
. * N | H
‘ b4 5
M8 x 1.25 ol 3l %
Ball screw greasable position: L i g
73 mm or more g
—o—
-
37.5 (from the origin position) 17 [57] Note 2
Stroke: X 41 N x 50 93.5 /.30
w
N * ¢
] N
[ loi
2 | [+ N
(8) Note 1 (8) Note 1 — (20)
S Fixing cable 4 Grounding terminal
P-M3 depth 4 3 Allowable bend R50 M3 depth 6 , \;
(Rod bottom A A View
fixing tap) -
Note 3 (49) Connect to the relay cable

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the fixing tap for the rod bottom when using the fixing tap for the rod edge.

Str

Body length LL (mm)

Number of Without brake
mounting holes P |with brake

Number of mounting Without brake
hole intervals N M

Without brake

Weight (kg)

With brake

345

315
2 4 6
0 2 4
0 1 2
0 0 1
1.5 1.7 1.8
1.8 2.0 21

19

CKD




E S D2 Series

Dimensions
Dimensions

@ ESD2-45E (standard mounting  straight)

. =)
o

Connect to relay cable

22 8.5 (hexagon: direction is variable against the base side) 9
o
N
) S ] 7 '
R { = @ o : T g
/
©|  Dimension of / Q| \ Fixing cable
2| attached nut M10x1.25 allowable
Ball screw greasing Ball screw greasing hole bending R50
possible position:
75 mm or over (300)
45
25
Stroke length: X 42.5 (for the origin position
4-M4 depth 10 |-+ g ( gin position) 08, .48 _ 08
L] 5) Note 1 (5) Note 1
- S AN : = 9§ v ~
¥ -~ <t d
< &’E © 1 LT 985
'90 Ground terminal
T groove for M3 O 3.5 || \M3 depth 6 44
(8 positions) S T groove range: L3 16.5
Section D Body length: LL (for the origin position) 93.5
13.5 [64] Note 2
Total length: L (for the origin position)
5.8

D section details

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake

Code | o5 | 10 | 15 | 20 |

X(mm) | so | 100 | 150 | 200 ]

Total len 328.5 | 378.5 | 4285 | 4785

2215 | 271.5 | 321.5 | 3715

162.5 | 212.5 | 262.5 | 312.5

_ 1.7 | 20 | 22 | 25
Weight (kg)

With brake 2.1 24 2.6 2.9

CKD



E S D2 Series

Dimensions

@ ESD2-45R (right-hand mounting)

21

‘ i

o |33

b section details
42.5

513 (from the origin position) Total length: L (from the origin position)
45 Body length: LL (from the origin position) 4-M4 depth 10
5 ) 45 (Rod edge
Stroke: X T slot range: T3 16.5 33 fixing tap)
14,4 || 4-M4 depth 10 T 1] /Note 3
] - 3 ) v [Gete
M3 T slot (8 locations) =1 T o 0 —~ col: Pl | "~
0 vl <
~ NE '°~O Note 3 R L — & S [t} - %
‘ 'Qé‘a (8) Note 1 (8) Note 1 Ball screw greasing hole 28 2
o LM g e
8§ g D section = —o- =
NS —
I
0.8 48 0.8 93.5 30
\ 17 [57] Note 2
8.5 (width across flat area: orientation with -
22 the base is not fixed) ©
17 6 o X
M10 x 1.25 N
= g=t=
e pmmR A I JT— e
U t--y\{ -
Q| M10 x 1.25 ' i J—LLO)
&} Ball screw greasable position S i
= 75 mm or more 8 A 4 A View
Attached nut dimensions Fixing cable allowable bend R50 Grounding terminal
Connect to the relay cable (49) M3 depth 6

Note 1: Operating range during origin return

Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the M3 T slot when using the fixing tap for the rod edge.

Str

Body length LL (mm) 221.5

T slot range L3 (mm) 162.5

Without brake [ERR®]

Weight (k
ght (ko) With brake 2.2

CKD



Dimensions

E S D2 Series

Dimensions

@ ESD2-45L (left-hand mounting)

22 8.5 (width across flat area: orientation with the base is not fixed)
17
M10 x 1.25 6 &
l . & \ ~
® 8= : = . <
-] f ,EL
g M10x1.25 / |
= Ball screw greasable position: 75 mm or more 3 4 Grounding terminal
k <L M3 depth 6
Attached nut dimensions Fixing cable allowable bend R50 /'y Jr A
Connect to the relay cable (49)
17 [57] Note 2
0.8 48 0.8 93.5 30
N\
oS = ~ T
0 = i G 0?;'5 (8)Note 1 (8) Note 1 Ball screw greasing hole ‘%_’ —
| ?Q' o|
~ o} =l ©
= M3 T sot (8 locations) 5%
[Te) 1 —_—— L \s B - |
2 Ngi Note 3 & ~ 1 L@l M depth 10
4-M4 depth 10 42.5 (from the origin position) === (Rod edge
i4 Stroke: X T slot range: T3 16.5 33 %
25 D section Body length: LL (from the origin position) 45
45 Total length: L (from the origin position)
51.3
5.8
[——

1.5

D section details

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the M3 T slot when using the fixing

tap for the rod edge.

mmnmm

Total length L (mm) 2515 | 301.5 | 351.5 | 401.5

X(mm) | so | 100 | 150 | 200 ]

Body length LL (mm) 2215 | 2715 | 3215 | 3715

T slot range L3 (mm) 162.5 | 212.5 | 262.5 | 312.5

Without brake [EERe] 2.2 24 2.7

Weight (kg)

With brake 2.2 25 2.7 3.0

CKD

22



E S D2 Series

Dimensions

@ ESD2-45D (bottom mounting)

Ball screw greasing hole

Total length: L (from the origin position)

4-M4 depth 10

49.6
45 Body length: LL (from the origin position) “s (Rod edge
Stroke: X T slot range: T3 16.5 ; fixing tap)
4-M4 depth 10 Note 3
42.5 (from the origin position)
{ i - ©
M3 T slot i & =
(8 locations) (8) Note 1 (8) Note 1 = % 2
Note 3 ' = o
[— —] N~
. 2 2
D section 38 = Z
‘ 93.5 30
0.8 48 0.8
58 17 [57] Note 2
i K «/
© ;
P
|
3.3
— —
D section details
22 8.5 (width across flat area: orientation with the base is not fixed)
17 -
M10 x 1.25 6 & _
— - 9- 1
@ { I //\\_J 7‘5
=l f i/ | &
© M10x1.25 /
2 S Grounding terminal
~ Ball screw greasable position: 75 mm or more 3 4 M3 de %h 6 (20)
L) A p
A View

Fixing cable allowable bend R50 4

Attached nut dimensions

Connect to the relay cable (49)

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the M3 T slot when using the fixing tap for the rod edge.

Body length LL (mm)
T slot range L3 (mm)

Without brake [ERR®]

With brake 2.2

Weight (kg)

23 CKD



E S D2 Series

Dimensions
Dimensions

@ ESD2-55E (standard mounting  straight)

Connect to relay cable ..l- g

24 9.5 (hexagon: direction is variable against the base side) 9

-
7 9 -
M12x1.25 12 ’B‘ ‘; p== I
] 1 A o * 1 >
b T - ! )
3 g Ry =g @ @ L] 2
3| Dimension of M12x1.25 / —-L &| | Fixing cable
& attached nut ) allowable
~ — Ball screw greasing bending R50 —|
possible position: Ball screw greasing hole %
83 mm or over (300) S
©
S5
o]
o
@
Q)
w
2
55 g
30 & =
Q <
17| | =
4-M5 depth 12 <= Stroke length: X 45.5 (for the origin position) 0.8 64 0.8 N
/—-f- ! ) Note 1 (8) Note 1 / €
) : 1 © el
i A : 3 Q % 2
ol o ~4 N i T N ) ~
0l ®y <Y 0 SL . § 3 ~
A~
\ N " 1] v
T groove for M4 5| ~ iOJ\Spacer bracket (optional product) 4 w\_ Ground terminal 60
(8 positions) S -~ M3 depth 6
Section D i T groove range: L3 16.5
£
& Body length: LL (for the origin position) 117
£ » N 13 [66] Note 2
3 Total length: L (for the origin position)
v
I
N
7.3
[

kil

D section details

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake

mlﬂmmmmm
X(mm) | 50 | 100 | 150 | 200 | 250 | 300 ]
Total leng 375 | 425 | 475 | 525 | 575 | 625
M 428 | 478 | 528 | 578 | 628 | 678
245 | 295 | 345 | 395 | 445 | 495
183 | 233 | 283 | 333 | 383 | 433

PO (TIPTS50 | a4 | o8 | a1 | 45 | 49
(<]]
R N YW 37 | 41 | 45 | 48 | 52 | 56

CKD



E S D2 Series

Dimensions

@ ESD2-55R (right-hand mounting)

66.3
55
30
17
%
275 QQQ. Ball scr::\;v greasable position 4-M5 depth 12 55
mm or more i : ;
4l deph 1 ‘ 24 gr?egtvalttjl?navirtistshza;:sr:?s notfixed) /52l ScTew greasing hole (Rod sdgo birg ) | 2
MA T sot (8 locatons o Note 3
I Y - —
Tl . N as 66—
Y@, 0 1 I o , F_ 5
=13y 8 = : @@ o n f -
] © ©
1 Ball screw greasing hole/ ol ~ @
| (300) o e
o — | =} \ D section Connect to the relay cable 7y B g
~ 2 K A
N / . = —&—
v —/
0.8 64 0.8 @ZCD:D 3,
A View Fixing cable
7.3 Allowable bend R50
[
o (@)
D 19 [61] Note 2
0 4.3
D section details 45.5 (from the origin position) 117 30
8) Note 1 Stroke: X Grounding terminal
7 (8) Note 1 (8) Note 1 — M3 depth 6
o)
=
( r_ﬁ! —EL Q
g ==—a U [
4
Attached nut dimensions T slot range: L3 16.5
Body length: LL (from the origin position)
Total length: L (from the origin position)

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the M4 T slot when using the fixing tap for the rod edge.

Total length L (mm)

Body length LL (mm)

T slot range L3 (mm)

Without brake

Weight (kg)

With brake

375 425 475 525
345 395 445 495
183 283 333 383 433
3.5 3.9 4.3 4.6 5.0 54
4.1 4.5 4.9 52 5.6 6.0

25

CKD




E S D2 Series

Dimensions
Dimensions
@ ESD2-55L (left-hand mounting)
Total length: L (from the origin position)
Body length: LL (from the origin position)
T slot range: L3 16.5
M12 x 1.25 19?7 -
—iﬁé_ éi — 0
—~ > f JQL 0 7 O
o N
- (8) Note 1 (8) Note 1
x L
h Stroke: X
L " 4 Grounding terminal
Attached nut dimensions 45.5 (from the origin position) 17 30 M3 depth 6
\.19 [61] Note 2
AView
300
0.8 64 0.8 Connect to the relay cable v (300)
/ \ ] t‘ﬁ '}
2 ] —o—
0| B ‘ NS
~ — | = Fixing cable g
| M12 x 1.25 Allowable bend R50 re} 2
o ©
1 o
1 Al * ~
8 =R . & o ei@ -9
2 8 i
% S 9.5 (width across flat area: orientation
275 ‘ O 24 with the base is not fixed) 4-M5 depth 12 43
{ “6.
S Ball screw greasable position ;E:;‘; T:g)e 55
n7 D section 83 mm or more Note 3
30 )
55 Ball screw greasing hole
66.3
7.3
[

15
~
w

D section details

Note 1: Operating range during origin return
Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the M4 T slot when using the fixing tap for the rod edge.

mmmmmmm
X(mm) | s0_| 100 | 150 [ 200 | 250 | 300 ]
275 | 325 | 375 | 425 | 475 | 525
245 | 295 | 345 | 395 | 445 | 495
183 | 233 | 283 | 333 | 383 | 433

PO [TVPee 5 | oo [ 43 | 46 | 50 | 64
(<]]
R N YT 1 | 45 | 49 | 52 | 56 | 60

CKD



E S D2 Series

Dimensions

@ ESD2-55D (bottom mounting)

Ball screw greasable position
83 mm or more

19 o 24 9.5 (width across flat area: orientation with the base is not fixed)
7 ~ __
M12 x 1.25 ? N
L=y g =, - i
LRSS | | g @ —®
> M12 x 1.25 =
~ Ball screw greasing hole
Attached nut dimensions
65.6 45.5 (from the origin position)
55 Total length: L (from the origin position)
30 Body length: LL (from the origin positi 4-MS depth 12
- ® _ ody leng (from the origin position) | (Rod edge
4-M5 depth 12 QQO Stroke: X T slot range: L3 16.5 fixing tap)
( (8) Note 1 (8) Note 1
M4 T slot (8 locations ‘
gl
JE— ~ oi [Te} e~ ‘*.“\f N
Sl de 10 - g | f
S t
| w
| <
= ‘ =3} \D section —J>
© \
~ 8 ‘ .
N A 7
0.8 64 0.8 117 30
19 [61] Note 2
20) (49) Connect to the relay cable
7.3
A A Grounding terminal
N = <2
- =] Fixing cable allowable bend R50 M3 depth 6
N / L | i
o) ' @ = | o
\ N A View \ N
© 4.3 !

D section details

Note 1: Operating range during origin return

Note 2: The numbers within the [ ] are the dimensions with the brake
Note 3: Be sure to also mount and use the M4 T slot when using the fixing tap for the rod edge.

Stroke Code | 05 | 10 | 15 | 20 | 25 | 30
X(mm) | 50 | 100 | 150 | 200 | 250 | 300 ]
Total length L (mm) 275 325 375 425 475 525
Body length LL (mm) 245 295 345 395 445 495
T slot range L3 (mm) 183 233 283 333 383 433
. Without brake K 3.9 43 4.6 5.0 54
Weight (kg) =
With brake 4.1 45 4.9 5.2 5.6 6.0

27

CKD

(136 to 138)




E RLZ/ES D2 Series

Option (mounting bracket)

Option (mounting bracket)

The following kits are included with the product with the mounting bracket option.

@ Option : LB

@ Option : FA

Foot kit model No.: ESD-[Body size]-LB

Foot bracket fitting dimensions
Set model No.: ESD2-35E [ - (][] - JOCJ L

»%4 2-05
0| V) ‘:fa‘rﬁwf . "z[’ _ A 3
| <F| TR 1\5 [ O A 71‘1
SRRk 13 REUEES S EEEH
41 L
35
j ofed gl
D P Ay i R
”2@ JH@‘“ 5 ‘ﬂf——m# SR i
Total length (mm)
L
50 100
100 150
150 200

Set model No.: ESD2-45E []- [ J-CICICJL
2-p6

fo

67
57

]
FLL A=)
i
© \\}%;'g ¥8
% I‘i“&m;—‘/mJ |
4 Total length (mm)
L
50 147.5
100 197.5
150 247.5
200 297.5

Set model No.: ESD2-55E [ - (][] -CICJCJL

39.5

Total length (mm)

| Stroke | L |
50 163
100 213
150 263
200 313
250 363
300 413

Flange kit model No.: ESD-[Body size]-FA

Flange bracket fitting dimensions
Set model No.: ESD2-35E [ - (][] - JLIJ F

4-95
"% sl I —
T PRI
45 7
55

Set model No.: ESD2-45E [ - (][] -CICICIF

4-9p6
B @
R o 2
&7 33
o )
57
68

Set model No.: ESD2-55E [ |- [ 1]-ICICIF

4-¢7

el @
D o9
& 93

@ Option : SP
Spacer kit model No.: ESD-[ 22 ]-SP
Set model No.: ESD2-[ 32 E (] - JJJ-JCICJ S

*Refer to the spacer bracket fitting dimensions on pages 16 and 24.

CKD

28





